功能要求
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工程文件
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程序文件
[image: image4.png][LIBRARY ieee;
USE ieee.std_logic_1164.all;

PORT (
a0

IN STD_LOGIC;

Al : IN STD_LOGIC;
A2 : IN STD_LOGIC;
S1 : IN STD_LOGIC:
$2 : IN STD_LOGIC;
$3 : IN STD_LOGIC;
Y7 : OUT STD_LOGIC;
Y6 : OUT STD LOGIC;
Y5 : OUT STD_LOGIC;
Y4 : OUT STD _LOGIC;
Y3 : OUT STD _LOGIC;
Y2 : OUT STD_LOGIC;
Yl : OUT STD LOGIC;
YO : OUT STD_LOGIC
)i
END 151387

[E2RCHITECTURE behave OF LS138 IS

SIGNAL A_data
SIGNAL Y_data

STD_LOGIC_VECTOR(2 DOWNTO 0);
STD_LOGIC_VECTOR(7 DOWNTO 0) :=

A data <= (A2 & Al & RO);
Y7 <= Y_data(7);
Y6 <= Y data(6);
Y5 <= Y_data(5);
Y4 <= Y data(4);
v3 Y data(°





程序编译
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el PMA
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仿真程序（testbench）
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PROCESS
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PORT MAP (
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仿真图
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